1:100

AXONOMETRIE

x 4 = >
) [ _AN|n o —
—8| 8| < =
g I
x v
) &S| 5| S
= x
O 5 5| o
2 2| a
= 2 2 S
o 3 >
s 5
> N g
B \ 2 ,nnv = = o
3 8] > 2 Q ~
N e o] ©| © 5 =t
i~ i~ = 15 &
P sl vl 2|3
sl | E |8
€| €| = &
= 55 5|2
S| o L2
— 2 £ =
<
A a
=
o 3
@D al &
o S
S o N
= 5 | 2
= = z &
= s P
w fael
o % «®
(o) e
<{ o | =
w9 .
(dp] z S
[ 2 —
<C s s = = 3
-l
a A = 2
— S S » el =
o (=] L
T & S o
=| = o —
Z > =z =
— g o 3| &8 G L ol .
ol & ol B X < = s
O SEEE N
x| O ~1 < - ) Q 3. 5y
< s 2 gle E S Er2
o a 3| = So £ 3
MRS =1 = 2] o Seog S
V N| > 2l Z mem
=| o 75 . 4%.ﬁmwumu
I < g
()] 52 X S w|§| 858¢
= W -_— X o + s
< c ez |58 O|E sk
ol o © N ﬁknw
—l S 8 2 |Z|gd X% &%
) 7 8 3 ° sl = W,AE s 3
17) 58 2T = g
N 1% 09
\/ 1 \) 3l S gc.
: = d
r . : . : . : ‘/— 3 O o m <C LN .mw,
& N N\ / ©| < = 3 2 EO ]
=1 o > €0 { 7Y
) \¥ O =1 N [e) 2| » = AVX O
> X (&) w o 4
@) 23 z|Ee o O<|g =z
\ %) - g
o
N\ 2 s @b
b7 3 b =
gl 2 B & v
II'
ANV \V/
AN /)
I\II

\//A
PN
N i
NN

N

/ \a

1L 1L ,
ASSSINNSNR

=AW /! / FN\\MH.
N/ \m\\ h\\ Q)
\ / N !\.P/“.Q %///%

\

NG
s,
%N\N».@Q: vy
,.\\\.%%// e
b
\

[ \
7/ \% \ /,/ ?"\\W"/A\‘ \
AN N1 .\m@ /M\“\\ W
A NG \
><A/My<\§w«\ —
\\m\mv/\%b?///% \ /&
////.,
S
\

SaINONNS epdL



